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Serie 2

Primera part

Exercici 1
Q1 ¢ Q2 ¢ Q3 d Q4 ¢ Q5 ¢

Exercici 2
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Exercici 4

XL
OPCIO B
Exercici 3
a) —_— _ V=V,
‘ U
Vo=V,

b) U=yV2+V2 =152 ~1152 =162,6 V

c) P=Viy =115 W
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Exercici 4
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SERIE 1
Primera part

Exercici 1
Q1 b Q2 a Q3 a Q4 b Q5 a

Exercici 2

2 2

a) g 3U% _3-400 480
P 10000

2 2

o) Xg = _3:4007_sg0ic-— 1 1 _g31pF
-Q 10000 o-Xc 100-7-48

C) fdp=cos<p:E P 10 =0,7071

S:\/P2+Q2 102102

2 2
d) /b=~//§+/§=\/(%J +(Xicj _u et 400 5 _4179A

,q2x_(2: 48

I =3 I, =20,41A

OPCIO A
Exercici 3
a) VL U
i
- VR

—_—

b) XL=¥=1159

0) Vo = Vg = U2 - V2 =\230% ~115% =199,2 V
d) P=Vg/=199,2W
Exercici 4

P 120000

a) N(%)=100———— = =91,55%
) (%) J3Ulcos ¢ J3-693-130-0,84
b) p =2 parells de pols
c) r-f_ 1200(2)0 =790,3Nm
® 450"
60

d) Triangle, finia =225 A
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OPCIO B
Exercici 3
a) ~Uy+(Ry+Ro+ Ry +Ry)I+Up, =0 = |[= el _30 _3333A
R1+R2+R3+R4 15
b) P =Uy/=3333W;P,=-U, |=-166,7 kW
2 2 2 2
o A=—01 10 oww;p=_% 50 _o5w
R-|+R2 5 R3+R4 10
Exercici 4
a) =P 10000 _ 3 45 A
U 230
AU 0,05-230
AUm‘aX =2Rmaxl = Rméx = 2n;ax = 243,48 =0,1323Q
L L 100 2
R.yy=p——— = S, in= =0,01786—— =13,5mm
max pSml'n min pRmax 01323

b) S=16mm?

0) AU=AUqpy, SLS'“ =5113—é55 - 4,22%



